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QUADRATIC EQUATIONS
ASSIGNMENT NO. 8
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If the discriminant of the equation 6x2 — bx + 2 = 0 is 1, then the value of ‘b’ is:

7 b. -7 c. 17 d V7

The value of k for which the roots of the quadratic kx? + 2x + 3 = 0 are equal is:
1 1

3 b. -3 C. 3 d. -3

If the equation kx? — 2kx + 6 = 0 has equal roots, then find the value of k.

Find the roots of the following quadratic equation x? — g + Flo =0

Find the roots of the equation ax? + a = a%x + x.

Solve for x: 4v/3x% + 5x —2/3 =0

Find the roots of the equation x? — 2(a? + b*)x + (a? — b?)2 =0

A train takes 2 hours less for a journey of 300 km if its speed is increased by 5 km/hr
from its usual speed. Find the usual speed of the train.

A shopkeeper buys a number of books for Rs. 1200. If he had bought 10 more books for
the same amount, each book would have cost him Rs. 20 less. How many books did he
buy?

Divide 29 into two parts so that the sum of the squares of the two parts is 425.

A motorboat whose speed is 18 km/hr in still water takes 1 hour more to go 24 km
upstream than to return downstream to the same spot. Find the speed of the stream.
There are three consecutive positive integers such that the sum of the squares of the first
and the product of the other two is 154. Find the integers.



